
Аудитприски вежби – Верпјатнпст и статистика 

Решение: 

Бидејќи секпј шахист пдиграл сп секпгп пп една партија, тука станува збпр за 
кпмбинации. Притпа неппзнат е вкупнипт брпј на учесници n, нп ппзнатп е дека 
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На турнирпт ималп 10 учесници. 

 

Set of elementary events. Random events. 

 

Problem 1. An experiment consists of throwing a dice. Describe the set of elementary events 
and the following random events:  

А: an even number is observed,  

B: a number divisible by 3 is observed,  

С: a number smaller than 5 is observed.  

Solution: Let the elementary event Ei denote that we observe the number I when throwing the 

dice i=1,2,...6. Then, the set of elementary events  is given by ={ E1, E2,E3,E4,E5,E6}, and 

A={E2,E4,E6},   B={E3,E6},   C={E1, E2,E3,E4} 

 

Problem 2. One box contains 4 pieces of paper, numerated with the numbers 1,2,3 and 4. At 

random we take a paper from the box without returning, until an odd number is drawn. Find 

the set of elementary events and the following events: 
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The probability that the event S will happen is:  
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Problem 2.  Find the probability that the sum of two randomly chosen positive numbers smaller 

than 1 will be smaller than 1, and that their product will be less than 2/9. 

Solution: 

   1)(,1,0|,  myxyx  

S={(x,y)| 0<x,y< 1, x+y<1, xy <2/9 } 
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